[ Efficiency vs vertpos |
0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15

s A L

0.05F -+ eereeerennenens LTINS

A | 1 | ""
L. U9 ; FIT1¥
r +1:
L 4
1* - -
L 41T +
L +
0.95

1072 107 1 10

—— DM MS——

== B§M: S
Efficienq —— B M:, :MS: e{%?
0.5 T

e
)RR R TS
Y SN P ——

..........

0
P55 SRS SR S s
R S o -

E : # : “1.: :
L il JLItE SR S

SRRSO SRR SO N OO
0.1 ; : ; * :

..........

V| .'H.Q....

0

9¥Pp =20 -10 0 10

[ Efficiency vs. sim PV z |
0.5

0.45
0.4F
0.35
0.3
0.25f---
0.2
0.15
0.1
0.05]

L <4

057215 210 =5 0




	Contents
	Page 1


